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  Name:                                                Weekly Math Review – Q1:1        Teacher:

Monday Tuesday Wednesday Thursday 
Simplify by combining like 

terms: 

−10 + 7𝑥𝑥 + 24 − 2𝑥𝑥 

What was the average age 
and median age of 
inauguration of the 

presidents shown above? 

Simplify by combining like 
terms: 

−17 + 2(6𝑥𝑥 − 1) + 5 

How many total games 
were played in the 10 
recorded world series 

below? 

What is the mean number of 
games played? 

Simplify by combining like 
terms: 

10𝑥𝑥 − 12𝑦𝑦 + 8 + 12𝑦𝑦 

Simplify by combining like 
terms: 

7
5
𝑥𝑥 − 9.42 −

2
5
𝑥𝑥 − 1.58 

Between which years was 
the biggest change in the 

number of hurricanes? 

Simplify by combining like 
terms: 

−4 + 5𝑥𝑥 − 17 − 22𝑥𝑥 

What is the difference 
between the highest and 

lowest medal counts? 

Simplify by combining like 
terms: 

3(4𝑥𝑥 + 5) + 2 

Simplify by combining like 
terms: 

−6𝑥𝑥 − 12 + 8𝑦𝑦 + 16𝑥𝑥 

Simplify by combining like 
terms: 

3
4
𝑥𝑥 − 7.3 +

5
4
𝑥𝑥 + 21.3 

Solve: 

 16 + 𝑥𝑥 = 12 

Solve: 

−4 = −17 + 𝑥𝑥 

Solve: 

−23 = 𝑥𝑥 − 23 

Solve: 

4 + 𝑥𝑥 − 17 = 22 

Solve: 

−3𝑥𝑥 = 15 

Solve: 

 13 =
𝑥𝑥
4

Solve: 

−10 = 4𝑥𝑥 

Solve: 

 −
𝑥𝑥
3

= 9 

Solve: 

−2𝑥𝑥 + 6 = 28 

Solve: 

−7 = 2𝑥𝑥 − 7 

Solve: 

−7 = −1 +
𝑥𝑥
3

Solve: 

𝑥𝑥 + 5
2

= 10 

Solve: 

−18 = −3𝑥𝑥 + 6 

Solve: 

3𝑥𝑥 + 15 − 7𝑥𝑥 = −7 

Solve: 

2𝑥𝑥 + 18 − 1 = 33 

Solve: 

47 = −2 − 7𝑥𝑥 
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MONDAY 

# of questions _____ 
# correct _____ 
I need more help 
with… ______________ 
_____________________ 
_____________________ 
_____________________
_____________________
_____________________ 

TUESDAY 
# of questions _____ 
# correct _____ 
I need more help 
with… ______________ 
_____________________ 
_____________________ 
_____________________
_____________________
_____________________ 

WEDNESDAY 
# of questions _____ 
# correct _____ 
I need more help 
with… ______________ 
_____________________ 
_____________________ 
_____________________
_____________________
_____________________ 

THURSDAY 
# of questions _____ 
# correct _____ 
I need more help 
with… ______________ 
_____________________ 
_____________________ 
_____________________
_____________________
_____________________ 
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If the pink gorilla eats watermelon every night, how much watermelons does he eat? 

Answer Key - Weekly Math Review – Q1:1

Monday Tuesday Wednesday Thursday 
Simplify by combining like 

terms: 

−10 + 7𝑥𝑥 + 24 − 2𝑥𝑥 
5𝑥𝑥 + 14 

What was the average age 
and median age of 
inauguration of the 

presidents shown above? 
Avg= 55.78 
Median=56 

Simplify by combining like 
terms: 

−17 + 2(6𝑥𝑥 − 1) + 5 
12𝑥𝑥 − 14 

How many total games 
were played in the 10 
recorded world series 

below? 62 

What is the mean number of 
games played? 

≈ 6 games 

Simplify by combining like 
terms: 

10𝑥𝑥 − 12𝑦𝑦 + 8 + 12𝑦𝑦 
10𝑥𝑥 + 8 

Simplify by combining like 
terms: 

7
5
𝑥𝑥 − 9.42 −

2
5
𝑥𝑥 − 1.58 

𝑥𝑥 − 11 

Between which years was 
the biggest change in the 

number of hurricanes? 
1945-1950 

Simplify by combining like 
terms: 

−4 + 5𝑥𝑥 − 17 − 22𝑥𝑥 
−17𝑥𝑥 − 21 

What is the difference 
between the highest and 

lowest medal counts? 
24 

Simplify by combining like 
terms: 

3(4𝑥𝑥 + 5) + 2 
12𝑥𝑥 + 17 

Simplify by combining like 
terms: 

−6𝑥𝑥 − 12 + 8𝑦𝑦 + 16𝑥𝑥 
10𝑥𝑥 + 8𝑦𝑦 − 12 

Simplify by combining like 
terms: 

3
4
𝑥𝑥 − 7.3 +

5
4
𝑥𝑥 + 21.3 

2𝑥𝑥 + 14 

Solve: 

 16 + 𝑥𝑥 = 12 
𝑥𝑥 = −4 

Solve: 

−4 = −17 + 𝑥𝑥 
𝑥𝑥 = 13 

Solve: 

−23 = 𝑥𝑥 − 23 
𝑥𝑥 = 0 

Solve: 

4 + 𝑥𝑥 − 17 = 22 
𝑥𝑥 = 35 

Solve: 

−3𝑥𝑥 = 15 
𝑥𝑥 = −5 

Solve: 

 13 =
𝑥𝑥
4

𝑥𝑥 = 52 

Solve: 

−10 = 4𝑥𝑥 

𝑥𝑥 = −
5
2

Solve: 

 −
𝑥𝑥
3

= 9 
𝑥𝑥 = −27 

Solve: 

−2𝑥𝑥 + 6 = 28 
𝑥𝑥 = −11 

Solve: 

−7 = 2𝑥𝑥 − 7 
𝑥𝑥 = 0 

Solve: 

−7 = −1 +
𝑥𝑥
3

𝑥𝑥 = −18 

Solve: 

𝑥𝑥 + 5
2

= 10 
𝑥𝑥 = 15 

Solve: 

−18 = −3𝑥𝑥 + 6 
𝑥𝑥 = 8 

Solve: 

3𝑥𝑥 + 15 − 7𝑥𝑥 = −7 

𝑥𝑥 =
11
2

Solve: 

2𝑥𝑥 + 18 − 1 = 33 
𝑥𝑥 = 8 

Solve: 

47 = −2 − 7𝑥𝑥 
𝑥𝑥 = −7 


